Rivet 3.1.10, = 2.5M events

91 GeV ee vy*/Z (Hadronic)
.IZ\ [T T I T I T | T I T I T I T I T | T I T —]

‘@®.016 — _ o _
o B =(1530) multiplicity (delp-=St0) 5
%.014 L [ | DELEHI T
— —A— Pythia 6.428 370 _|
|~ ---o-- Pythia 6.428 atlas-csc B
0.012 — --+*-- Pythia 6.428 d6t _
B Pythia 6.428 default 7
- ---¥-- Pythia 6.428 dw |
0.01— —o— Pythia 6.428 p0 —
0.008 B A -
0.006 — " _
T T L T Lt T s T LT DI
0.004 = o ]
0.002 |— -
a _I | | | ' | | | | I_
— ' ! ' ' ' ' ! =
2 b =
T = .
LIDJ | _|

o 1
o e T L e e et o e P S e S
= u _
4 N _
05 _
| |

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


